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-0l 30 *2ll 400
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01 = LH A HI 4,600 4,600 0
OZAZ2E d2F 4,600
203 YR =&l 2,000 2,000 0
03 Al F=XH R =AY 2,000 2,000 0
O Al Zel A=A &l 2,000
206 M= Hl 47,340 33,100 14,240
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-TMEAT2E =S
20,0002 * 100 2,000
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01 At 22l 21,300 14,200 7,100
OMoHAIE Y & S2=27 FHIYXH= 21,300
- &4 Xt (15ton) 1,600,000& = 52 8,000
-MS2(0.6m) 700,000& 10 7,000
—8S2(0.3m) 550,000& = 6 3,300
- g X (15ton) 500,000& = 6 3,000
206 M= Hl 2,200 5,500 A 3,300
01 =8l 2,200 5,500 A 3,300
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01 A& HI 290,000 0 290,000
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-sJ|2H 1,930& = 55,000 106,150
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01 Al&H| 16,500 81,500 A 65,000
OFHXNSANFRYE XA M 2,000
OFEXSA HEAIE 400,000& = 2504 10,000
OXNTETSE SHEEH SXES(200) 4,500
405 XHAHFEIEHI 700 0 700
01 XAt 2 EF S| 700 0 700
OHEX e ssHerA 2 350,000& * 2CH 700
=2&NE AH| 13,298 9,641 3,657
101 e1214| 9,639 4,141 5,498
04 JI2tHIZ22NSEES 9,639 4,141 5,498
O=22&INE XA IE2L
60,240 * 29 x 402 * 23] 9,639
201 et 2,759 4,000 A 1,241
01 AP 2t 2] d| 2,759 4,000 A 1,241
Oo=sg&ansE )Xz 550,000& * 23| 1,100
O=2&NE O X M &
130& = 12,0000H 1,560
OO0l M= & Mgl 2sdds & il S
Jx== 3,000& * 33A 99
206 M EHl 900 1,500 A 600
01 M =4l 900 1,500 A 600
O=sg&Z10= &4 M=l 900
SAFEA Y SH2L 575,177 252,611 322,566
101 Q124 H] 184,817 155,356 29,461
04 JI2ZtHIZ2 2 NEE S 184,817 155,356 29,461
oA HA¥ 20 31,628
-JE2 60,240 ~ 2% = 180 21,687
-ggaesy
60,2403 * 1.5 = 28 x 25 4,518
-85 60,240 * 28 x 36 4,338
- A= 60,2403 * 2 x 9L 1,085
OWHHE ,AOHH = 22| o8 147,589
-Jl=22 60,2403 * 35 *x 40Y 84,336
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60,2403 * 1.5 = 35 * 12Y 37,952
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